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Solving Linear Equations pt.1

Lineaire vergelijkingen oplossen pt. I

Sl 1) x+5=-2; 2)T+x=3;
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53, 1A -d_geaal.
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3) 0.4x-12,03=0.13;
54. 1) 012-25x=-08;
3 3 2
3) L——5x=2—f{—3—]:
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55. 1) 8a—10+a+2—-4a=17;:
3) —3+9y+135-5y=22;

5.ﬁ.|}1¥+[EI—EIJ =57
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3 3+225x+26=2x+5+04x;

57 0 =+3%_19;
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3) I—‘Q_}'=I9+3}':
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3) lﬂ—3t_1=ﬁx+3,

Nx+{-2)=-3; 4—H)+x=0.

x-2=-17; Dda+3=-13; 3)34-3x=-20; 4}%+3=—T.

2) Il.t—51=—ﬁ-i;
4 8 2

4y 01-0.0lx=-1.
2) 43x-05=4.2-(-3.5);
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4)20x +0.4- —ﬁ—]=4—: =l
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2) Sx+7-Bx+6x=13;
4) —x+6—-2x—-8Bx+18=13.

2)(25x-5)+(0,2x - 2,7x)+ 0.5x = 6,5 ;

4) 0.75x-2x=9+0,6x-05.

2) E—E—xﬂ;
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4) 4f+33=1?+f_
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7 :4:—4=2x—41;
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